Appendix 2: OpenBUGS code (change-points).

model
{   
for (i in 1:N) {
    J[i] <- 1+step(i-k1)+step(i-k2)
    y[i] <- log(yearly.rate.TB[i])
   y[i] ~ dnorm(mean[i],tau[J[i]])
    }
for (i in 1:N) {
mean[i] <- beta0[J[i]]+ beta1[J[i]]*years[i]
fitted.mean[i]<-exp(mean[i])
}
k1 ~ dcat(p1[])
k2 ~ dcat(p2[])                                                                             
tau[1] ~ dgamma(1,1)
tau[2] ~ dgamma(1,1) 
tau[3] ~ dgamma(1,1)                                                                                                         
beta0[1] ~ dnorm(-7.60,1)
beta0[2] ~ dnorm(-7.70,1)
beta0[3] ~ dnorm(-7.75,1)
beta1[1] ~ dnorm(0,100)
beta1[2] ~ dnorm(0,100)
beta1[3] ~ dnorm(0,100)
}    


